Available online at www.sciencedirect.com







SEVIER Applied Mathematics and Computation 161 (2005) 265–269

www.elsevier.com/locate/amc

# An iterative method for functional differential equations

Mustapha Yebdri<sup>a,\*</sup>, Sidi Mohammed Bouguima<sup>a</sup>, Ovide Arino<sup>b</sup>

<sup>a</sup> Department of Mathematics, University of Tlemcen, B.P. 119, Tlemcen 13000, Algeria <sup>b</sup> Laboratoire de Mathematiques, University of Pau 64000, France

### Abstract

A suitable periodic boundary conditions for a functional differential equations  $\dot{x}(t) = f(t, x, x_t)$  are conditions of the form  $x_0(\theta) = x_{2\pi}(\theta)$ . In this paper we use the notion of upper and lower solutions coupled with monotone iterative method to prove the existence of solutions of this periodic boundary value problem. © 2004 Elsevier Inc. All rights reserved.

## 1. Introduction

The method of upper and lower solutions coupled with the monotone iterative technique has been applied successfully to obtain results of existence and approximation of solutions for boundary value problems for ordinary differential equations (see [2] and the references therein). Some attempts have been made to extend these techniques to study functional differential equations  $\dot{x}(t) = f(t, x(t), x_t)$ , where  $x_t(\theta) = x(t + \theta)$  for all  $t \ge 0$  and  $\theta \in [-r, 0]$ . In [1,3,4] the periodic problem

<sup>\*</sup> Corresponding author.

*E-mail addresses:* m\_yebdri@mail.univ-tlemcen.dz (M. Yebdri), sm\_bouguima@mail.univ-tlemcen.dz (S. Mohammed Bouguima), ovide.arino@univ-pau.fr (O. Arino).

M. Yebdri et al. | Appl. Math. Comput. 161 (2005) 265-269

$$\begin{cases} \dot{u}(t) = f(t, u(t), u_t), \\ u(0) = u(T) \end{cases}$$
(1)

was considered. As it is pointed out in [3] a natural periodic boundary value problem is to require the boundary condition to be  $u_0(\theta) = u_T(\theta)$  whenever  $-r \leq \theta \leq 0$ . To our knowledge none of the methods used previously works for such boundary value problems. The aim of this paper is to give an approach based on iterative methods, which deals with boundary value problems with  $u_0(\theta) = u_T(\theta)$  whenever  $-r \leq \theta \leq 0$  as boundary conditions.

Let us consider the problem

$$\begin{cases} \dot{x}(t) = f(t, x(t), x_t), \\ x_0(\theta) = x_{2\pi}(\theta) \quad \theta \in [-r, 0], \end{cases}$$

$$\tag{2}$$

where  $f: I \times \mathbb{R} \times C \to \mathbb{R}$  is a continuous function,  $I = [0, 2\pi]$  and  $C = C([-r, 0], \mathbb{R})$  is the space of continuous real valued functions defined on [-r, 0]. The set *C* is a Banach space with supremum norm  $\|\phi\| = \sup_{t \in [-r, 0]} |\phi(t)|$ .

**Definition 1.1.**  $\alpha(t)$  is called a lower solution of (2) if

$$\begin{cases} \dot{\alpha}(t) \leq f(t, \alpha(t), \alpha_t) & t \in [0, 2\pi], \\ \alpha(\theta) = \alpha_{2\pi}(\theta) & \forall \theta \in [-r, 0], \end{cases}$$

 $\beta(t)$  is called an upper solution of (2) if

$$\begin{cases} \dot{\beta}(t) \ge f(t, \beta(t), \beta_t) & t \in [0, 2\pi], \\ \beta(\theta) = \beta_{2\pi}(\theta) & \forall \theta \in [-r, 0]. \end{cases}$$

### 2. Main result

Let us make the following assumptions on f

 $f(t, u, \phi) + Mu$  is monotone nondecreasing. (H)

Let  $\alpha$  and  $\beta$  be respectively a lower and an upper solutions of (2) such that the assumption (H) will be fulfilled. Define the sequence  $(u_n)_{n \ge 0}$  on  $C([-r, 2\pi], \mathbb{R})$  by

$$\begin{cases} u_0 = \alpha, \\ \dot{u}_{n+1} + Mu_{n+1} = f(t, u_n, u_{n,t}) + Mu_n, \\ u_{n+1,0}(\theta) = u_{n,2\pi}(\theta) \quad \theta \in [-r, 0]. \end{cases}$$

Since f is continuous and by setting  $g_n(t) = f(t, u_n, u_{n,t}) + Mu_n$  we can see by recurrence that the sequence  $(u_n)$  is well defined.

266

**Remark 2.1.** We point out that the sequence  $(u_n)$  is different from the sequences used in [1,3,4], since the first boundary condition (or the initial condition)  $u_{n+1,0}$  is expressed in term of the previous term of the sequence at the second boundary condition  $u_{n,2\pi}$  i.e.  $u_{n+1,0}(\theta) = u_{n,2\pi}(\theta) \ \theta \in [-r, 0]$ .

If  $\alpha$  and  $\beta$  are a lower and an upper solutions of (2) such that the assumption (H) will be fulfilled. The sequence  $(u_n)$  has the following property.

**Proposition 2.2.** For all  $k \in \mathbb{N}$  one has

$$\alpha(t)\leqslant u_k(t)\leqslant \beta(t).$$

**Proof.** We prove that  $u_k(t) \leq \beta(t) \ \forall k \in \mathbb{N}$ , the proof for the left inequality is analogue. We proceed by recurrence.

For k = 0 one has  $u_0(t) = \alpha(t) \leq \beta(t) \ \forall t \in [-r, 2\pi].$ 

Now we suppose that  $u_k(t) \leq \beta(t)$  and show that  $u_{k+1}(t) \leq \beta(t) \ \forall t \in [-r, 2\pi]$ . Since

$$\dot{u}_{k+1} + Mu_{k+1} = f(t, u_k, u_{k,t}) + Mu_k$$

and

$$\dot{\beta} + M\beta \ge f(t,\beta,\beta_t) + M\beta$$

one has

$$(u_{k+1} - \beta)' + M(u_{k+1} - \beta) \leq [f(t, u_k, u_{k,t}) + Mu_k] - [f(t, \beta, \beta_t) + M\beta]$$
  
=  $f(t, u_k, u_{k,t}) - f(t, \beta, \beta_t) + M(u_k - \beta).$ 

By application of (H) we obtain

$$(u_{k+1}-\beta)'+M(u_{k+1}-\beta)\leqslant 0.$$

Moreover

$$u_{k+1}(0) - \beta(0) = u_k(2\pi) - \beta(2\pi) \leq 0.$$

Then we have a problem of the form

$$\begin{cases} \dot{w} + Mw \leq 0 \quad \forall t \in ]0, 2\pi[, \\ w(0) \leq 0, \end{cases}$$

where  $w = u_{k+1} - \beta$ . Hence the question is to prove that  $w(t) \leq 0$  whenever  $t \in [0, 2\pi]$ . To this end one has

$$(e^{Mt}w(t))' = Me^{Mt}w(t) + e^{Mt}\dot{w}(t) = e^{Mt}[\dot{w}(t) + Mw(t)] \leq 0.$$

By integrating the term  $(e^{Mt}w(t))' \leq 0$  we get

$$e^{Mt}w(t) - e^{0}w(0) \leq 0,$$
  

$$e^{Mt}w(t) \leq w(0),$$
  

$$e^{Mt}w(t) \leq 0,$$

which is equivalent to  $w \leq 0$ . This ended the proof since  $w = u_{k+1} - \beta$ .  $\Box$ 

**Theorem 2.3.** The sequence  $(u_k)_{k\in\mathbb{N}}$  has a convergent subsequence, which converges to a solution u of the problem (2) i.e.  $u \in C([-r, 2\pi], \mathbb{R}) \cap C^1([0, 2\pi], \mathbb{R})$  and  $u_0(\theta) = u_{2\pi}(\theta)$ .

**Proof.** Since  $\alpha \leq u_k \leq \beta$  one has

$$\|u_k\| \leqslant \|\alpha\| + \|\beta\| \leqslant c$$

In addition

$$\dot{u}_k + Mu_k = f(t, u_{k-1}, u_{k-1,t}) + Mu_{k-1}$$

and

$$\|\dot{u}_k\| \leq M \|u_k\| + \sup_{\substack{\alpha \leq u \leq \beta \\ t \in [0, 2\pi]}} \|f(t, u_{k-1}, u_{k-1,t})\| + M \|u_{k-1}\|,$$

 $\|\dot{u}_k\| \leq K.$ 

Hence the sequence  $(u_k)$  is equicontinuous and since it is bounded by the Ascoli–Arzela theorem the sequence  $(u_k)$  has a convergent subsequence.

From

$$\dot{u}_{n+1} + Mu_{n+1} = f(t, u_n, u_{n,l}) + Mu_n,$$
  
 $u_{n+1,0}(\theta) = u_{n,2\pi}(\theta) \quad \theta \in [-r, 0],$ 

and by integration yields

$$u_{n+1}(t) - u_{n+1}(0) = \int_0^t f(s, u_n, u_{n,s}) \,\mathrm{d}s + M \int_0^t (u_n(s) - u_{n+1}(s)) \,\mathrm{d}s.$$

Since  $|f(t, u_{k-1}, u_{k-1,t})| \leq \sup_{\substack{\alpha \leq v \leq \beta \\ t \in [0,2\pi]}} \{|f(t, v, v_t)|\} \leq L, L$  is a constant. By the

dominated convergence theorem of Lebesque we get

$$u(t) - u(0) = \int_0^t f(s, u, u_s) \,\mathrm{d}s.$$

In addition one has

$$u_0(\theta) = u_{2\pi}(\theta) \quad \forall \theta[-r, 0].$$

This ended the proof.  $\Box$ 

268

### 3. Application

As application we consider the following functional differential equation

$$\dot{x}(t) = g(t, x_t) - Kx(t)$$

with g continuous and K is a positive constant. Let  $m(\alpha) = \inf_{0 \le t \le 2\pi} g(t, \overline{\alpha})$  and  $M(\alpha) = \sup_{0 \le t \le 2\pi} g(t, \overline{\alpha})$  where  $\overline{\alpha}$  is the constant function equals to  $\alpha$ . Let us make the hypothesis  $m_0 = \overline{\lim_{\alpha \to -\infty} \frac{|m(\alpha)|}{|\alpha|}} < +\infty$  and  $M_0 = \overline{\lim_{\alpha \to +\infty} \frac{M(\alpha)}{\alpha}} < +\infty$ .

**Proposition 3.1.** If the function  $g(t, \cdot)$  is monotone nondecreasing, for all  $K > \max(m_0, M_0)$  the boundary value problem

$$\begin{cases} \dot{x}(t) = g(t, x_t) - Kx(t), \\ x_0(\theta) = x_{2\pi}(\theta) \quad \theta \in [-r, 0] \end{cases}$$
(3)

has at least one solution.

**Proof.** Eq. (3) is of the form of Eq. (2) with

 $f(t, u, \varphi) := g(t, \varphi) - ku.$ 

Since g is monotone nondecreasing, it is easy to verify that for  $M \ge K$  the function  $g(t, \varphi) + (M - K)u$  satisfies the hypothesis (H). Let  $\alpha_0$  be a large negative real number. The constant solution equal to  $\alpha_0$  is a lower solution of Eq. (3). Indeed it enough to check that

$$g(t, \alpha_0) - K \alpha_0 \ge 0.$$

This follows from  $K \ge m_0 = \overline{\lim}_{\alpha \to -\infty} \frac{|m(\alpha)|}{|\alpha|} \ge \frac{|m(\alpha_0)|}{|\alpha_0|}$ .

We prove in the same way that the constant solution  $\beta$  equal to  $\beta_0$  a positive real number is an upper solution.

#### References

- J.R. Haddock, M.N. Nkashama, Periodic boundary value problems and monotone iterative methods for functional differential equations, Nonlinear Anal. 22 (1994) 267–276.
- [2] G.S. Ladde, V. Lakshmikantham, A.S. Vatsale, Monotone Iterative Techniques for Nonlinear Differential Equations, Pitman Advanced Publishing Program, 1985.
- [3] S. Leela, M.N. Oguztoerelli, Periodic boundary value problem for differential equations with delay and monotone iterative method, J. Math. Anal. Appl. 122 (1987) 301–307.
- [4] E. Liz, J.J. Nieto, Periodic boundary value problems for a class of functional differential equations, J. Math. Anal. Appl. 200 (1996) 680–686.